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Question Number : 1 Question Id : 479548601 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : A labour is called precipitate when the combined duration of the first and second

stage is less than 6 hours.

Statement II : Precipitate labour is common in multiparae. Rapid expulsion is due to combined
effect of hyperactive uterine contractions associated with diminished soft tissue

resistance.

In the light of the above statements, choose the most appropriate answer from the options given
below.

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

Options :



4795482401. 1
4795482402. 2
4795482403. 3
4795482404. 4

Question Number : 2 Question Id : 479548602 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following chapter of Kent's Repertory will you find the rubric “coffee amelioration” ?
(A) Mind

(B) Stomach

(C) Mouth

(D) Generalities

Choose the most appropriate answer from the options given below :

(1) (A) Only

(2) (B)Onl
(3) (C) Onl
(4) (D) Only

Options :

4795482405. 1
4795482406. 2
4795482407. 3
4795482408. 4

Question Number : 3 Question Id : 479548603 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most common cause of female infertility :
(1) Ovulatory dysfunction

(2) Tubal disease

(3) Uterine factors

(4) Cervical factors

Options :

4795482409. 1
4795482410. 2
4795482411. 3
4795482412. 4

Question Number : 4 Question Id : 479548604 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the Repertory of Homoeopathic Materia Medica by Kent, which of the following chapters have
given rubric ‘Freckles’ ?

(A) Skin

(B) Generalities
(C) Nose

(D) Mind

Choose the most appropriate answer from the options given below :
(1)  (A) and (B) Only
(2)  (©) and (D) Only
(3)  (A) and (C) Only
(4) (B) and (D) Only

Options :

4795482413. 1
4795482414.2
4795482415. 3
4795482416. 4

Question Number : 5 Question Id : 479548605 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Commonest position in vertex presentation is :

(1) LOA
(2) LOP
(3) ROA
(4) ROP
Options :

4795482417. 1
4795482418. 2
4795482419. 3
4795482420. 4

Question Number : 6 Question Id : 479548606 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-1I.

List-I List-II
(Rubrics) (Chapter in BBCR)
(A) Homesickness () Sensation and Complaints in General
(B) Lumbricoids () Circulation
(C) Ebullition (IIT) Mind
(D) Epilepsy (IV) Stool

Choose the correct answer from the options given below :
(1) (A)-aI), (B)-1D), (O)-(1), (D)-AV)
(2)  (A)-aID), (B)-AV), (O)-1), (D)-(I)
(3) (A1), (B)-(I), (O-(1V), (D)-()
(4)  (A)-(I), (B)-(1V), (O-1), (D)-[0)

Options :

4795482421. 1
4795482422. 2
4795482423. 3
4795482424. 4

Question Number : 7 Question Id : 479548607 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a long term risk of PCOS patients ?
(1) Diabetes mellitus

(2) Dyslipidemia

(3) Hypertension

(4) Miscarriage

Options :

4795482425. 1
4795482426. 2
4795482427. 3
4795482428. 4

Question Number : 8 Question Id : 479548608 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-II.
List-I List-1I

(A) Placenta may develop as seperate ()  Placenta Succenturiata
and nearly equal size discs

(B) One or more small lobes of placenta, (II) Placenta Extrachorialis
placed at varying distance from the
placental margin

(©) Such type of placenta is due to smaller (III) Placenta Bilobate
chorionic plate than the basal plate

(D) Develop due to missing of central (IV) Placenta Fenestrata
portion of placental disk

Choose the correct answer from the options given below.

(1) (A1), B)-), ([©)-(), (D)-(IV)

(2) (A)()()(IH)()(W)()()
(3)  (A)-(D, (B)-1D), (O)-(IV), (D)-(0)
(4)  (A)-D), ( ( ), (O)-(11), (D)-(II)
Options :

4795482429. 1
4795482430. 2
4795482431. 3
4795482432. 4

Question Number : 9 Question Id : 479548609 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the correct sequence of hormones secreted during menstrual cycle ?

(A) GnRH

(B) FSH

(C) Estrogen

(D) LH

(E) Progesterone
Choose the correct answer from the options given below :
(1) (A), (B), ©), (D), (E)
(2) (A), (B), (D), (), (E)
(3) (&) ©), (B) (E)

4)  (©), (B) (E) (A)
Options :

4795482433. 1
4795482434. 2
4795482435.3
4795482436. 4

Question Number : 10 Question Id : 479548610 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Vital force creates local affection in a chronic disease :
(A) To diminish the power of internal disease

(B) To cure the internal disease

(C) To silence the internal disease for sometime

(D) In response to antipathic treatment

Choose the most appropriate answer from the options given below.

(D (A) OfﬂY

(2)  (B) Onl

(3)  (C) Onl

(4) (D) Olﬂy
Options :

4795482437. 1
4795482438. 2
4795482439. 3
4795482440. 4

Question Number : 11 Question Id : 479548611 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In BBCR under the “Aggravation and Amelioration in general” chapter, which of the following

rubrics is mentioned ?
(A) Influenza

(B) Uric acid diathesis
(C) Haemophilia

(D) Anaemia

Choose the most appropriate answer from the options given below.

(1) (A) Only

(2)  (B) Onl

(3) (C) Onl

(4) (D) OIﬂY
Options :

4795482441. 1
4795482442. 2
4795482443. 3
4795482444. 4

Question Number : 12 Question Id : 479548612 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Spiegelberg’s criteria is for :

(1) Fallopian tube

(2) Ovary

(3) Uterus

(4) Cervix
Options :

4795482445. 1
4795482446. 2



4795482447. 3
4795482448. 4

Question Number : 13 Question Id : 479548613 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to Biomedical waste management rules, 2016 foetus below the viability period should
be collected in :
(1) Autoclave safe plastic bags or container
(2) Red coloured non-chlorinated plastic bags or containers

(3) Yellow coloured non-chlorinated plastic bags

(4) Puncture proof, leak proof, tamper proof container

Options :

4795482449. 1
4795482450. 2
4795482451. 3
4795482452. 4

Question Number : 14 Question Id : 479548614 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which among the following is false regarding Homoeopathic aggravation in acute/chronic disease ?

(A) Slight aggravation is always seen even when very small dose given owing to superior power
of medicine

(B) Homoeopathic aggravation is seen in first few hours after the administration of medicine in

acute as well as chronic disease
(C) Slight aggravation is a good prognostic feature in acute disease
(D) Smaller the dose lesser will be the aggravation

Choose the most appropriate answer from the options given below.

(1) (A) Oﬂly

(2) (B) Onl

(3) (C) Onl

(4) (D) ODJY
Options :

4795482453. 1
4795482454. 2
4795482455. 3
4795482456. 4

Question Number : 15 Question Id : 479548615 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The following are Epithelial ovarian tumour :
(A) Serous tumour

(B) Mucinous cyst adenoma

(C) Brenner tumours

(D) Choriocarcinoma

Choose the most appropriate answer from the options given below.
(1) (A), (O, (D) Only

(2) (A), (B) Only

(3)  (A) (B), (C) Only

(4) (B), (C) (D) Only

Options :

4795482457. 1

4795482458. 2

4795482459. 3
4795482460. 4

Question Number : 16 Question Id : 479548616 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
There are small, bilaterally compressed, wingless insects with hard chitinous exoskeleton and

covered with backwardly directed strong bristles. This are the features of which vector ?

(1) Sand flea

(2) Fleas

(3) Tsetse flies

(4) Ticks
Options :

4795482461. 1
4795482462. 2
4795482463. 3
4795482464. 4

Question Number : 17 Question Id : 479548617 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Tendo Achilles’ is mentioned in which of the following section of TPB ?
(1) Lower extremities

(2) Sensation

(3) Skin

(4) Aggravation

Options :

4795482465. 1
4795482466. 2
4795482467. 3
4795482468. 4

Question Number : 18 Question Id : 479548618 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The only diameter which can be measured by intravaginal finger examination :
(1) Diagonal Conjugate

(2) Obstetric Conjugate

(3) Transverse diameter of pelvic outlet

(4) Transverse diameter of Brim

Options :

4795482469. 1
4795482470. 2
4795482471. 3
4795482472. 4

Question Number : 19 Question Id : 479548619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-1L

List-1 List-11

(A) Curie (I) Sievert [Sv]

(B) Roentgen (1) Gray [Gy]

(C) Rad (III) Becquerel [Bq]

(D) Rem (IV) Coulomb per kilogram [C/kg]

Choose the correct answer from the options given below :
(1) (A)-1), (B)-1V), (O)-(0), (D)-(IT)

(2)  (A)-(AV), (B)-(III), (C)-(I0), (D)-(T)

(3)  (A)-(1D), (B)-(IV), (O)-(), (D)-(I)

(4)  (A)-(D), (B)-(1), (O)-(IV), (D)-(II)

s, |

4795482474. 2

4795482475. 3
4795482476. 4

Question Number : 20 Question Id : 479548620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pott’s disease is :

(1) Tuberculosis of the calcaneum
(2) Tuberculosis of the Ribs

(3) Tuberculosis of the spine

(4) Malignancy of the spine
Options :
4795482477. 1
4795482478. 2
4795482479. 3
4795482480. 4

Question Number : 21 Question Id : 479548621 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Bazin’s disease is :

(1)  Erythrocyanoid ulcer
(2) Martorell's ulcer

(3) Meleney’s ulcer

(4) Tropical ulcer

Options :

4795482481. 1
4795482482. 2
4795482483. 3
4795482484. 4

Question Number : 22 Question Id : 479548622 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Torsion of ovary most commonly seen in :
(1) Granulosa cell tumour

(2) Dermoid cyst

(3)  Yolk sac tumour

(4) Dysgerminoma

Options :

4795482485. 1
4795482486. 2
4795482487. 3
4795482488. 4

Question Number : 23 Question Id : 479548623 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct ?

(A) Cold abscess is almost always a sequele of tubercular infection in the body, commonly in the
lymph node and bone

(B) Basal cell carcinoma is the most common malignant tumour of the eyelids

(©) Commonest type of primary malignant tumour of thyroid is follicular carcinoma

(D) Mallory weiss tear is a horizontal tear at the gastro-duodenal junction

Choose the most appropriate answer from the options given below.

(1) (B) and (C) Only

(2) (A)and (B) Only

(3) (A)and (D) Only

(4) (C) and (D) Only

Options :

4795482489. 1

4795482490. 2

4795482491. 3
4795482492. 4

Question Number : 24 Question Id : 479548624 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct ?

(A) Chalazion is a chronic granulomatous inflammation of a meibomian gland

(B) Retinoblastoma is associated with mutations in BRCA gene

(C) Vernal conjunctivitis is a form of viral conjunctivitis usually aggravated in rainy season
(D) Acute angle closure glaucoma usually occurs in older, often hypermetropic patients

(E) Blood in the anterior chamber of eye is called ‘Hyphaema’

Choose the correct answer from the options given below :

(1) (A), (D) and (E) Oﬂl}’

(2)  (B), (D) and (E) Onl
(3)  (A), (B) and (C) Onl
(4)  (A), (© and (D) 0111)’

Options :

4795482493. 1
4795482494. 2
4795482495. 3
4795482496. 4

Question Number : 25 Question Id : 479548625 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-I with List-IL
List-I List-1I
(A) Wilm’s Tumour (I)  Congenital lymphangioma
(B) Fibro-adenoma of breast (II) ~ Floating tumour
(©) Serocystic disease of Brodie (IlI) Nephroblastoma
(D) Cystic hygroma (IV) Cystosarcoma phylloides
Choose the correct answer from the options given below :
(1) (A, (B)-(1D), (©-(IV), (D)-(1)
(2) (A1), B-1), (O-1V), (D)-(11)
(3) (A, B)-(1), ©)-(0, (D)}-IV)
(4)  (A-IV), (B)-(D), (O-(I), (D)-(I)

Options :

4795482497. 1
4795482498. 2
4795482499. 3
4795482500. 4

Question Number : 26 Question Id : 479548626 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lymph capillaries are absent in all except :

(1) Epidermis

(2) Dermis

(3) Bone marrow

(4) Articular cartilage

Options :



4795482501. 1
4795482502. 2
4795482503. 3
4795482504. 4

Question Number : 27 Question Id : 479548627 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements in relation to XII nerve palsy.
Statement I :  Bilateral paralysis of XII nerves results in complete paralysis of the tongue.
Statement II :  Speech and swallowing are affected, taste and touch sensations are abnormal.
In the light of the above statements, choose the correct answer from the options given below :
(1)
(2) Both Statement I and Statement II are false
(3)

Both Statement I and Statement Il are true

Statement I is correct but Statement II is false

(4) Statement I is incorrect but Statement II is true

Options :

4795482505. 1
4795482506. 2
4795482507. 3
4795482508. 4

Question Number : 28 Question Id : 479548628 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The conversion of the spermatids to sperms will not occur without FSH stimulation
of the sertoli cells.

Reason (R) : Follicle-Stimulating hormone, also secreted by the anterior pituitary gland,
stimulates sertoli cells.

In the light of the above statements, choose the most appropriate answer from the options given
below.

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

4795482509. 1
4795482510. 2
4795482511. 3
4795482512. 4

Question Number : 29 Question Id : 479548629 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Subarachnoid space extend up to the lower border of which vertebra ?
(1) 2™ lumbar

(2) 3™ lumbar

(3) 2nd gacral

(4) 15 sacral

Options :

4795482513. 1
4795482514.2
4795482515. 3
4795482516. 4

Question Number : 30 Question Id : 479548630 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The normal pleural pressure at the beginning of inspiration is about :
(I) -5cmH,0O
(2) -7.5cmH,O
(3) +5cmH,0O
4) +7.5cmH,0O

Options :

4795482517. 1
4795482518. 2
4795482519. 3
4795482520. 4

Question Number : 31 Question Id : 479548631 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hormones that use receptor tyrosine kinase signalling :

(1) Leptin
(2) HCG
(3) GnRH

(4) Glucagon

Options :

4795482521. 1
4795482522. 2
4795482523. 3
4795482524. 4

Question Number : 32 Question Id : 479548632 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Patient come with symptom of Burning in soles at night.
In this context, arrangement of Rubric according to Kents repertory is :

(1 Extremities, Pain, Burning, lower limb, Foot, Sole night

)
(2) Extremities, Burning pain, Foot, Sole night
)

(3) Extremities foot, Sole, Burning pain night

(4) Extremities, Burning sole night during

Options :
4795482525. 1
4795482526. 2



4795482527. 3
4795482528. 4

Question Number : 33 Question Id : 479548633 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Estimation of Serum Prostate Specific Antigen (PSA) is done in suspected prostate
cancer cases.

Reason (R) : In prostate cancer only the PSA level is high. So this test is the confirmatory test.
In the light of the above statements, choose the most appropriate answer from the options given
below.

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3)  (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

4795482529. 1
4795482530. 2
4795482531. 3
4795482532. 4

Question Number : 34 Question Id : 479548634 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements.
Statement I :  Cullen’s sign is positive in Ruptured ectopic pregnancy.
Statement II :  Boes’s sign is positive in chronic tonsillitis.

In the light of the above statements, choose the most appropriate answer from the options given
below.

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

Options :

4795482533. 1
4795482534.2
4795482535. 3
4795482536. 4

Question Number : 35 Question Id : 479548635 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Most common primary malignant tumour of thyroid glands is :
(1) Follicular carcinoma

(2) Papillary carcinoma

(3) Medullary carcinoma

(4) Lymphoma

Options :

4795482537. 1
4795482538. 2
4795482539. 3
4795482540. 4

Question Number : 36 Question Id : 479548636 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Stellwag’s sign is related to :

(1) Testicular atrophy

(2) Primary toxic goitre

(3) Hepatocellular carcinoma

(4) Appendicular lump

Options :

4795482541. 1
4795482542. 2
4795482543. 3
4795482544. 4

Question Number : 37 Question Id : 479548637 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The second most abundant anions in Extracellular Fluid are :
(1) Bicarbonate ions

(2) Phosphate ions

(3) Chloride ions

(4) Sodium ions

Options :

4795482545. 1
4795482546. 2
4795482547. 3
4795482548. 4

Question Number : 38 Question Id : 479548638 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-IL
List-I List-II
(A) Scala vestibuli and scala media ()  Middle Ear
are separated from each other by
(B) Scala tympani and scala media () Reissner membrane

are separated from each other by

(C) Bony labirynth and membranous (II) Basilar membrane
labirynth
(D) Oval window and round window (IV) Inner Ear

Choose the correct answer from the options given below.

(1) (A)-(D), (B)-(I), (O)-(I1), (D)-(IV)

(2)  (A)-AV), (B)-(I), (C)-(I), (D)-(I)
(3)  (A)-(D), (B)-(I), (©O)-(IV), (D)-(I)
(4)  (A)-(1), (B)-(II), (©O)-(), (D)-(IV)
Options :

4795482549. 1
4795482550. 2
4795482551. 3
4795482552. 4

Question Number : 39 Question Id : 479548639 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hunner’s ulcer is :
(1) Alkaline encrusting cystitis
(2) Acute haemorrhagic cystitis
(3) Cystitis cystica
(4) Interstitial cystitis

Options :

4795482553. 1
4795482554. 2
4795482555. 3
4795482556. 4

Question Number : 40 Question Id : 479548640 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Paracentesis thoracis is usually done in which space of the mid axillary line ?
(1) 5t intercostal

(2) 6™ intercostal

(3) 7™ intercostal

(4) 8t intercostal

Options :

4795482557. 1
4795482558. 2
4795482559. 3
4795482560. 4



Question Number : 41 Question Id : 479548641 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following makes medial boundary of femoral ring ?
(1) Inguinal ligament
(2) Lacunar ligament
(3) Femoral vein

(4) Pectineus

Options :

4795482561. 1
4795482562. 2
4795482563. 3
4795482564. 4

Question Number : 42 Question Id : 479548642 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Premature contraction of heart or extrasystole is caused due to :
(1) Local area of ischaemia

(2) Toxic irritation of A-V node

(3) Both (1) and (2)

(4) Extreme stimulation of heart by vagus nerve

Options :

4795482565. 1
4795482566. 2
4795482567. 3
4795482568. 4

Question Number : 43 Question Id : 479548643 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following rubric is not given in section of face of Boenninghausens therapeutic Pocket
Book ?
(1) Comedones

(2) Yellow saddle across upper part of the cheeks and nose

(3) Drawn
(4) Parotid gland
Options :

4795482569. 1
4795482570. 2
4795482571. 3
4795482572. 4

Question Number : 44 Question Id : 479548644 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following chapter of TPB, prostate is mentioned ?

(1) Urinary organs
(2) Urine

(3) Micturition

(4) Sexual organs



Options :

4795482573. 1
4795482574.2
4795482575. 3
4795482576. 4

Question Number : 45 Question Id : 479548645 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When the total weight of the drugs to be sampled is less than 10 kg, the final official sample weigh

less than :
(1) 500 g
(2) 250 g
(3) 125 g
(4) 100 g
Options :

4795482577. 1
4795482578. 2
4795482579. 3
4795482580. 4

Question Number : 46 Question Id : 479548646 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following number of monographs according to their chronological order of publication

of Homoeopathic pharmacopoeia of India.

(A) 114
(B) 107
(C) 101
(D) 104
(E) 100

Choose the correct answer from the options given below :

(1) (B), (A), (D), (), (E)
(2)  (B), (B), (A), (D), (©)
(3)  (E), (D), (A), (B), (O)
4)  (B), (A) (E), (D), (O

Options :

4795482581. 1
4795482582. 2
4795482583. 3
4795482584. 4

Question Number : 47 Question Id : 479548647 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Following Homoeopathic drugs are derived from Euphorbiaceae family except :
(1) Croton tiglium

(2) Eucalyptus globulus

(3) Acalypha indica

(4) Jatropha curcas

Options :

4795482585. 1
4795482586. 2
4795482587. 3
4795482588. 4

Question Number : 48 Question Id : 479548648 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following repertory in which abdomen is mentioned as the first chapter ?
(1) A synoptic key of the materia medica

(2) Synthetic repertory by barthal and klunker

(3) Repertory of hering guiding symptoms of aur materia medica by knerr

(4) A concise repertory of homoeopathic medicines by S.R. Phatak

Options :

4795482589. 1
4795482590. 2
4795482591. 3
4795482592. 4

Question Number : 49 Question Id : 479548649 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following chromosomal anomaly is commonly found in klinefelter syndrome ?
(1) Trisomy 21

(2) 45 XO

(3) 47 XXY

(4) Philadelphia chromosome

Options :

4795482593. 1
4795482594. 2
4795482595. 3
4795482596. 4

Question Number : 50 Question Id : 479548650 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Linitis plastica is a pattern of which of the following condition ?
(1) Acute gastritis
(2) Gastric carcinoma
(3) Chronic gastritis
(4) Gastric polyp

Options :

4795482597. 1
4795482598. 2
4795482599. 3



4795482600. 4

Question Number : 51 Question Id : 479548651 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mallory bodies are present in which of the following condition ?
(1) Acute appendicitis

(2) Chronic cholecystitis

(3) Chronic bronchitis

(4) Alcoholic hepatitis

Options :

4795482601. 1
4795482602. 2
4795482603. 3
4795482604. 4

Question Number : 52 Question Id : 479548652 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which section of the Drug and Cosmetic rule, provides the rules regarding prohibition of quantity
and percentage of ethyl alcohol ?

(1) 106-A
(2) 106-B
(3) 126-A
(4) 85-F

Options :

4795482605. 1
4795482606. 2
4795482607. 3
4795482608. 4

Question Number : 53 Question Id : 479548653 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Kent's Repertory, the cross reference given for the rubric ‘Resolute’ is :
(1) Remorse

(2) Repulsive

(3) Courageous

(4) Careless

Options :

4795482609. 1
4795482610. 2
4795482611. 3
4795482612. 4

Question Number : 54 Question Id : 479548654 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Following homoeopathic drugs are prepared under class V-A of old Hahnemanian method except :
(1) Acidum aceticum

(2) Ammonium muriaticum

(3) Acidum benzoicum

(4) Argentum nitricum

Options :

4795482613. 1
4795482614. 2
4795482615. 3
4795482616. 4

Question Number : 55 Question Id : 479548655 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

80% alcohol concentration is equal to :

(1) 60° O.P
(2) 50° O.P
(3) 40° O.P
(4) 30° O.P

Options :

4795482617. 1
4795482618. 2
4795482619. 3
4795482620. 4

Question Number : 56 Question Id : 479548656 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements.
Statement I : Rattle snake mille wort is the common name of Ruta graveolens.
Statement Il :  Alum roots is the common name of senega.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

Options :

4795482621. 1
4795482622. 2
4795482623. 3
4795482624. 4

Question Number : 57 Question Id : 479548657 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Lanolin has following properties.

(A) Melting point 36-42°C

(B) Contain not more than 2.5% of water

(©) Melting point 42-50°C

(D) Contain not more than 0.25% of water

(E)  Freely soluble in solvent ether and chloroform
Choose the correct answer from the options given below :
(1) (B), (C) and (E) Only

(2) (A), (D) and (E) Only

(3) (), (D) and () Only

(4) (A), (B) and (E) Only

Options :

4795482625. 1
4795482626. 2
4795482627. 3
4795482628. 4

Question Number : 58 Question Id : 479548658 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Length of the bone increases by multiplication of cells at :
(1) Epiphyseal plate

(2) Epiphysis

(3) Diaphysis

(4) Periosteum

Options :

4795482629. 1
4795482630. 2
4795482631. 3
4795482632. 4

Question Number : 59 Question Id : 479548659 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Apparent symptom caused by excess of homoeopathic medicine will soon disappears when
medicine is discontinued is called :

(1) Drug dyscrasia

(2) Secondary symptom
(3) Schein symptom

(4) Physiological symptom

Options :

4795482633. 1
4795482634. 2
4795482635. 3
4795482636. 4

Question Number : 60 Question Id : 479548660 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In Which of the following chapters of Kent’s Repertory, the rubric “Eat refuse to’ is mentioned ?
(1) Mind

(2) Appetite

(3) Abdomen

(4) Mouth

Options :

4795482637. 1
4795482638. 2
4795482639. 3
4795482640. 4

Question Number : 61 Question Id : 479548661 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following rubric is not mentioned in the generalities chapter of the Kent's Repertory ?
(1) Nursing children
(2) Old people
(3) Menopause
(4) Stoop shouldered

Options :

4795482641. 1
4795482642. 2
4795482643. 3
4795482644. 4

Question Number : 62 Question Id : 479548662 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements.

Statement I :  In the generalities section of Kent's Repertory, in the rubric undressing after

aggravation, medicine Rumex is not mentioned.

Statement I : In the generalities section of Kent's Repertory in the rubric, vaccination after,

Antimonium tart (Ant-t) is not mentioned.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

Options :

4795482645. 1
4795482646. 2
4795482647. 3
4795482648. 4

Question Number : 63 Question Id : 479548663 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements.
In context to Kent’s Repertory,
Statement I :  General rubric will include all remedies that are related to the symptoms.

Statement II :  Under rubric itching of palm, there are number of remedies, but Anagallis is not
included though in sub-rubric itching palm rubbing ameliorates Anagallis is
mentioned.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

Options :

4795482649. 1
4795482650. 2
4795482651. 3
4795482652. 4

Question Number : 64 Question Id : 479548664 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following rubric from BBCR is not given in the mind section of Kent’s Repertory ?
(1) Positiveness
(2) Playful
(3) Passionate

(4) Prophesying

Options :

4795482653. 1
4795482654. 2
4795482655. 3
4795482656. 4

Question Number : 65 Question Id : 479548665 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a major criteria for diagnosis of acute rheumatic fever as per
revised Jone's criteria ?

(1) Polyarthralgia

(2) Chorea

(3) Carditis

(4) Subcutaneous nodules

Options :

4795482657. 1
4795482658. 2
4795482659. 3
4795482660. 4

Question Number : 66 Question Id : 479548666 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Howell - Jolly bodies are seen in which of the following condition ?
(1) Post-splenectomy

(2) Liver disease

(3) Thalassaemias

(4) Microangiopathy

Options :

4795482661. 1
4795482662. 2
4795482663. 3
4795482664. 4

Question Number : 67 Question Id : 479548667 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are correct about Hepatitis B virus ?
(A) DNA virus

(B) Incubation period is 10-30 days

(C) Size of viral particle is 27 nm

(D) Carrier state is present

(E) Enveloped virus

Choose the correct answer from the options given below.

(1) (A), (D), (E) Only

(2)  (B), (C) (D) Only
3)  (A) (©), (E) Only
(4)  (©), (D), (E) Only
Options :

4795482665. 1
4795482666. 2
4795482667. 3
4795482668. 4

Question Number : 68 Question Id : 479548668 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-1L

List-I List-I1
(A) Pulsatilla (I)  Viscid saliva
(B) Nitric acid (II) Sour saliva
(C) Ignatia (III) Bloody saliva
(D) Kali bich (IV) Sweet saliva

Choose the correct answer from the options given below.

(1) (A)-A1), (B)-1), (O)-(11), (D)-(IV)

(2) (A1), (B)-(1I), (C)-(1), (D)-(T)
(3)  (A)-(D), (B)-(I), (O)-(1V), (D)-(I)
(4) (A1), (B)-(II), (O)-(1), (D)-()

Options :



4795482669. 1
4795482670. 2
4795482671. 3
4795482672. 4

Question Number : 69 Question Id : 479548669 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following nosodes have a predominantly haemorrhagic tendency ?
(1) Elaps corallinus

(2) Bovista lycoperdon

(3) Secale cornutum

(4) Lachesis

Options :

4795482673. 1
4795482674. 2
4795482675. 3
4795482676. 4

Question Number : 70 Question Id : 479548670 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following medicines have “fear of being alone” ?
(1) Gelsemium
(2) Baryta carbonica
(3) Phosphorus

(4) Carbo-animalis

Options :

4795482677. 1
4795482678. 2
4795482679. 3
4795482680. 4

Question Number : 71 Question Id : 479548671 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A victim of road accident was brought to the emergency in the following state - the patient was
semiconscious, tossing in bed and fearful of being touched. Head was hot with cold body. The

most likely indicated medicine is :
(1) Arsenicum album

(2) Aconite napellus

(3) Arnica montana

(4) Rhus toxicodendron

Options :

4795482681. 1
4795482682. 2
4795482683. 3
4795482684. 4

Question Number : 72 Question Id : 479548672 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many editions of Allen’s Key note has been completed before he died ?
(1) Three

(2) Six
(3) Two
(4) Four

Options :

4795482685. 1
4795482686. 2
4795482687. 3
4795482688. 4

Question Number : 73 Question Id : 479548673 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Want of breath in those engaged in atheletic sports, in old people, in those who use tobacco and
whiskey too excess :

(1) Coca

(2) Bromium

(3) Causticum

(4) Opium

Options :

4795482689. 1
4795482690. 2
4795482691. 3
4795482692. 4

Question Number : 74 Question Id : 479548674 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
This medicine has a specific place in the treatment of dysentery and the symptoms are worse by
food and drink :
(1) Chelidonium
(2) Trombidium
(3) Bromium
(4) Lithium corb

Options :

4795482693. 1
4795482694. 2
4795482695. 3
4795482696. 4

Question Number : 75 Question Id : 479548675 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Contradictory characteristics of this medicine are mania and melancholia; insomnia and sopor.
(1) Cinchona
(2) Ipecacuanha
(3) Veratrum album

(4) Tuberculinum
Options :



4795482697. 1
4795482698. 2
4795482699. 3
4795482700. 4

Question Number : 76 Question Id : 479548676 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the most appropriate medicine for the following symptoms.

Violent neuralgia about face and teeth, running towards ear, at night, worse eating, better near

hot stove

(1) Merc Sol.
(2) Spigelia
(3) Mag-phos
(4) Mezereum

Options :

4795482701. 1
4795482702. 2
4795482703. 3
4795482704. 4

Question Number : 77 Question Id : 479548677 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The medicine for “Dissecting wounds, insect stings, bad effect of vaccination is :
(1) Silicea

(2) Thuja Occidentalis

(3) Crotalus horridus

(4) Antim tartaricum

Options :

4795482705. 1
4795482706. 2
4795482707. 3
4795482708. 4

Question Number : 78 Question Id : 479548678 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Distinct consciousness of heart, it feels tired as if enlarged, pulsating constant in ears preventing
sleep are the symptoms of which medicine ?
(I) Pyrogen
(2) Natrum Muriaticum
(3) Gelsemium
(4) Digitalis purpurea

Options :

4795482709. 1
4795482710. 2
4795482711. 3
4795482712. 4

Question Number : 79 Question Id : 479548679 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In context to generalities section of Kent's Repertory, which of the following rubric is given -
‘When too much medicine has produced an over sensitive state and remedies fail to act’.

(1) Heaviness

(2) Lack of vital heat

(3) Weakness

(4) Irritability

Options :

4795482713. 1
4795482714. 2
4795482715. 3
4795482716. 4

Question Number : 80 Question Id : 479548680 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The most common clinical sign encountered in cases of symptomatic haemochromatosis is :
(1) Hepatomegaly
(2) Esophageal varices
(3) Metallic pigmentation of skin

(4) Arthropathy

Options :

4795482717. 1
4795482718. 2
4795482719. 3
4795482720. 4

Question Number : 81 Question Id : 479548681 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Alcohol was first used for preparation of medicine by :

(1) Persians

(2) Russians

(3) Hahnemann

(4) Buchholz

Options :

4795482721. 1
4795482722.2
4795482723. 3
4795482724. 4

Question Number : 82 Question Id : 479548682 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who among the following first saw the necessity of proving medicine on healthy human being ?

(1) Hahnemann

(2) Brousseau

(3) Albrecht von Haller
(4) Gresselich

Options :
4795482725 1
4795482726. 2



4795482727. 3
4795482728. 4

Question Number : 83 Question Id : 479548683 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The most prolific source of all the innumerable named or unnamed chronic maladies under which
mankind groans is :
(1) Psora
(2) Sycosis
(3) Syphilis
(4) External mode of treatment

Options :

4795482729. 1
4795482730. 2
4795482731. 3
4795482732. 4

Question Number : 84 Question Id : 479548684 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Most appropriate regimen during treatment of chronic disease is/are :

(A) Intellectual recreation

(B) Active exercise in open air in almost all kind of weather

(C) Nutritious unmedicinal food and drink

(D) Removal of obstacle to cure

Choose the correct answer from the options given below.
(1) (A), (B), (©), (D)

(2)  (A) (©), (D) Only

(3)  (B), (C) Only

(4) (O, (D) Only

Options :

4795482733. 1
4795482734. 2
4795482735. 3
4795482736. 4

Question Number : 85 Question Id : 479548685 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Those medicines with alternating action when first dose does not act, even after being similimum,
what should be the future course of treatment ?

(A) Give a dose slightly increase potency

(B) Give a complimentary medicine

(C) Wait without giving medicine for sometime

(D) Give another equally small dose of same medicine

Choose the most appropriate answer from the options given below.

(1) (A) Only

(2)  (B) Only

(3) (C) Only

(4) (D) Only
Options :

4795482737. 1
4795482738. 2
4795482739. 3
4795482740. 4

Question Number : 86 Question Id : 479548686 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : There are some medicine like Ignatia, Belladonna, Rhust tox, Bryonia etc., whose

power of altering man’s health consists chiefly in alternating actions.
Reason (R) : It is a kind of primary action symptoms that are in part opposed to each other.
In the light of the above statements, choose the correct answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3)  (A) is true but (R) is false
(4) (A) is false but (R) is true

Options :

4795482741. 1
4795482742.2
4795482743. 3
4795482744. 4

Question Number : 87 Question Id : 479548687 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-II.
List-I List-II
A) Mental disease (I)  Aphorism 232
B) Alternating disease  (II) Aphorism 210
(III) Aphorism 235
D) Intermittent fever (IV) Aphorism 150

C) Indisposition

(
(
(
(

Choose the correct answer from the options given below.

(1) (A)-A1), (B)-1), (O-1V), (D)-(II)

(2)  (A)-(1V), (B)-(III), (O)-(1), (D)-(0)
(3)  (A)-(D), (B)-(I), (O)-(1V), (D)-(I)
(4) (A1), (B)-1V), (O)-11), (D)-()

Options :

4795482745. 1
4795482746. 2
4795482747. 3
4795482748. 4

Question Number : 88 Question Id : 479548688 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The artery commonly injured in extradural haemorrhage is :
(1) Brachial artery

(2) Middle meningeal artery

(3) Carotid artery

(4) Lenticulo striate artery

Options :

4795482749. 1
4795482750. 2
4795482751. 3
4795482752. 4

Question Number : 89 Question Id : 479548689 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List-I with List-II Tests to detect poisons.

List-I List-II
(A) Arsenic (I)  Marquis test
(B) Hydrocyanic acid (II) Kunkel’s test
(©) Opium (IIT) Atomic absorption spectroscopy
(D) Carbon monoxide (IV) Lee-Jones test

Choose the correct answer from the options given below.

(1) (A)-(), (B)-(I), (O)-1V), (D)-(II)

(2)  (A)-D), (B)-(1), (O-(11), (D)-(V)
(3)  (A)-(V), (B)-(1I), (C)-(111), (D)-(T)
(4)  (A)-D), (B)-(1V), (O)-(O), (D)-(II)

Options :



4795482753. 1
4795482754. 2
4795482755.3
4795482756. 4

Question Number : 90 Question Id : 479548690 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The range of firing at which there is no burning, blackening or tattooing except producing a
round hole, four or five cm in diameter for all gauges and all chokes :

(1) Between 30 cm to one metre

(2) Between 60 cm to 90 cm

(3) Between 1 to 2 metres

(4) Between 2 to 4 metres

Options :

4795482757. 1
4795482758. 2
4795482759. 3
4795482760. 4

Question Number : 91 Question Id : 479548691 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cauda equina syndrome includes :

(A) Difficulty with micturition

(B) Saddle anaesthesia

(C) Normal gait

(D) Loss of anal sphinctor tone or faecal incontinence

Choose the most appropriate answer from the options given below.

(1) (A), (B), (D) Only

(2)  (A) (B), (C) Only
(3) (A) and (B) Onl

(4) (A) and (D) ODJY
Options :

4795482761. 1
4795482762. 2
4795482763. 3
4795482764. 4

Question Number : 92 Question Id : 479548692 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The most common cause of midsystolic murmur in adult patients is :

(1) Aortic stenosis

(2) Aortic regurgitation

(3) Pulmonary valve stenosis

(4) Mitral stenosis

Options :

4795482765. 1
4795482766. 2
4795482767. 3



4795482768. 4

Question Number : 93 Question Id : 479548693 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following pulmonary function test findings are found during an acute episode of
bronchial asthma ?

(A) | Peak Expiratory Flow Rate (PEFR)

(B) | FEV,

(C) T FEV,/FVC Ratio

(D) 1 FEV,/FVC Ratio

Choose the correct answer from the options given below.

(1) (A), (B) and (C) Only

(2)  (A) and (C) Only

(3) (B) and (C) Only

(4)  (A), (B) and (D) Only
Options :

4795482769. 1
4795482770. 2
4795482771. 3
4795482772. 4

Question Number : 94 Question Id : 479548694 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following conditions are associated with Type I Respiratory failure ?
(A) ARDS

(B) Drug overdose

(C) Pneumonia

(D) Brain stem injury

Choose the most appropriate answer from the options given below :

(1) (A) and (B) Only

(2) (B) and (C) Only
(3) (A) and (C) Only
(4) (B) and (D) Only
Options :

4795482773. 1
4795482774. 2
4795482775. 3
4795482776, 4

Question Number : 95 Question Id : 479548695 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The dietary factor which is not associated with increased risk of nephrolithiasis is :
(1) Animal protein

(2) Oxalate

(3) Sodium

(4) Phytate

Options :

4795482777. 1
4795482778. 2
4795482779. 3
4795482780. 4

Question Number : 96 Question Id : 479548696 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-I with List-II.
List-I List-II
(A) One sided disease (I)  Changes appearing on external part of the
body but not confined to that part only
(B) Local maladies (II) Certain disease alternating at uncertain interval
(C) Alternating disease  (III) Disease of unvarying character returning
at a fixed period
(D) Intermittent disease (IV) Displaying one or two principal symptoms which
obscure almost all other
Choose the correct answer from the options given below :
(1) (A)-(1), (B)-AV), (©)-1), (D)-)
(2) (A, (B)-(1), (©)-(1), (D)-QV)
(3)  (A)-QV), (B)(1), (O-(I), (D)-(I)
(4) (A1), (B)-Q), (-, (D)-1V)
Options :
4795482781. 1
4795482782. 2

4795482783. 3
4795482784. 4

Question Number : 97 Question Id : 479548697 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Treatment followed in mental disease resulting from corporeal maladies, will be
(A) Sensible advice

(B) Psychical remedies i.e. display of confidence friendly exhortations along with appropriate
diet and regime

(C) Acute non-antipsoric medicines followed by antipsoric medicine
(D) Ant psoric medicine, regulated mode of life along with auxillary mental regime

Choose the most appropriate answer from the options given below.

(1) (A) Only

(2)  (B) Onl

(3) (C) Onl

(4) (D) OIﬂY
Options :

4795482785. 1
4795482786. 2
4795482787. 3
4795482788. 4

Question Number : 98 Question Id : 479548698 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In case of drowning, gastric mucosa shows micro-ruptures due to air stretching as a result of
ingested fluid this is called :
(1) UENO's sign
(2) WYDLER'’s sign
(3) SABINSKY's sign
(4) SEHRT’s sign

Options :

4795482789. 1
4795482790. 2
4795482791. 3
4795482792. 4

Question Number : 99 Question Id : 479548699 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Early features of cholestasis :
(A) Xanthelasma
(B) Dark urine
(C) Palestools
(D) Pruritus
(E) Xanthomas

Choose the correct answer from the options given below :

(1) (E), (C), (D) Only

(2)  (A), (B), (E) Only
3)  (©), (A), (E) Only
(4) (B), (C) (D) Only
Options :

4795482793. 1
4795482794. 2
4795482795. 3
4795482796. 4

Question Number : 100 Question Id : 479548700 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-1L

List-I List-II
(Disease) (Antibodies)
(A) Post infectious glomerulonephritis () ANA
(B) Good pasture’s syndrome () ASOT
(C) Small vessel vasculitis (IIT)  Anti GBM antibody
(D) SLE (IV) p-ANCA

Choose the correct answer from the options given below :
(1) (A)-1V), B)-(), (©)-@), (D)-)
(2)  (A4)-(D), B)-{1), (O-1V), (D)-()
(3)  (A)-(), (B)-(III), (C)-(1), (D)-(IV)
(4)  (A)-D), (B)-I), (C-(1V), (D)}-(I)

Options :

4795482797. 1
4795482798. 2
4795482799. 3
4795482800. 4

Question Number : 101 Question Id : 479548701 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-1I.
List-1 List-11

(A) Nischay (I)  Oral contraceptive pill centchroman
(B) Antara programme (II) Home based pregnancy test kits

(C) Chhaya (IIT) Third generation IUDs

(D) Progestasert (IV) Contraceptive injectable MPA

Choose the correct answer from the options given below :

(1) (A)-aV), (B)-1), (O-(D, (D)-(II)
(2)  (A)-(D), (B)(I), (O-(1V), (D)-(IL

(A)-( )
(3) (A1), (B)-IV), (C)-(), (D)-(II)
(4) (A1), B)-(1), (O)-1V), (D)-(II)

Options :

4795482801. 1
4795482802. 2
4795482803. 3
4795482804. 4

Question Number : 102 Question Id : 479548702 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If one child receives all the doses of Vitamin A as per National Immunization Schedule since birth

till 5 years of age, he/she will receive total Vitamin A of :

(1) 15 ml
(2) 16 ml
(3) 17 ml
(4) 18 ml

Options :

4795482805. 1
4795482806. 2
4795482807. 3
4795482808. 4

Question Number : 103 Question Id : 479548703 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
For prevention of heat related illness, among athletes, the most effective approach to mitigate the
rise in core temperature is :
(1) Fluid ingestion
(2) Wetting the body
(3) Fanning the body
(4) Uncovering the body

Options :

4795482809. 1
4795482810. 2
4795482811. 3
4795482812. 4

Question Number : 104 Question Id : 479548704 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Name the medicine when complaints, especially diarrhoea, develop during the close of summer
when days are hot and nights are cold.

(1) Bryonia alba

(2) Natrum sulphuricum

(3) Rhus toxicodendron

(4) Dulcamara

Options :

4795482813. 1
4795482814. 2
4795482815. 3
4795482816. 4

Question Number : 105 Question Id : 479548705 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Asthma relieved by profuse perspiration is the symptom of which medicine ?
(1) Hypericum

(2) Natrum Muriaticum

(3) Psorinum

(4) Merc sol.

Options :

4795482817. 1
4795482818. 2
4795482819. 3
4795482820. 4

Question Number : 106 Question Id : 479548706 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the medicine for the following symptoms.

Patient is debilitated, concussion of brain where skin is cold, body bathed with cold sweat and
also craving for alcohol.

(1) Sulphur

(2) Syphilinum

(3) Sulphuricum acidum

(4) Nux vomica

Options :

4795482821. 1
4795482822.2
4795482823. 3
4795482824. 4

Question Number : 107 Question Id : 479548707 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The advise “avoid to take milk” should be given to patient while prescribing which among the
following medicines ?

(1) Iodine

(2) Bromine

(3) Fluoric acid

(4) Rhus tox

Options :

4795482825. 1
4795482826. 2
4795482827. 3
4795482828. 4

Question Number : 108 Question Id : 479548708 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement (I) : Primary hyperparathyroidism is the most likely diagnosis if parathyroid hormone

level is elevated in the presence of hypercalcaemia.

Statement (II) : Familial hypocalciuric hypercalcaemia (FHH) can have similar biochemical picture

to primary hyperparathyroidism but typically have low urine calcium excretion.
In the light of the above statements, choose the correct answer from the options given below :

(1)
(2) Statement (I) and Statement (II) are false
3)

(

(4) Statement (I) is incorrect but Statement (II) is true

Statement (I) and Statement (II) are correct

Statement (I) is correct but Statement (II) is false

Options :

4795482829. 1
4795482830. 2
4795482831. 3
4795482832. 4

Question Number : 109 Question Id : 479548709 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under the Employees State Insurance Act, duration of extended sickness benefit w.e.f. 01.01.2000
is of maximum period of :

(1) 2 years

(2) 3 years

(3) 4 years

(4) 1 years
Options :

4795482833. 1
4795482834. 2
4795482835. 3
4795482836. 4

Question Number : 110 Question Id : 479548710 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pulsatile liver can be seen in :
(1) Aortic regurgitation
(2) Mitral regurgitation
(3) Tricuspid regurgitation

(4) Pulmonary regurgitation

Options :

4795482837. 1
4795482838. 2
4795482839. 3
4795482840. 4

Question Number : 111 Question Id : 479548711 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Quincke’s sign can be found in :

(1) Aortic stenosis

(2) Mitral regurgitation

(3) Mitral stenosis

(4) Aortic regurgitation

Options :

4795482841. 1
4795482842. 2
4795482843. 3
4795482844. 4

Question Number : 112 Question Id : 479548712 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The correct sequence of ocular changes seen in Diabetic retinopathy is :

(A) Neovascularization

(B) Retinal ischemia

(C) Micro aneurysms

(D) Retinal detachment

Choose the correct answer from the options given below.

() (A) (B), (O), (D)
(2)  (©), (A) B), (D)
(3) (O, (B), (A), (D)
(4)  (A), (©), (B), (D)
Options :

4795482845. 1
4795482846. 2
4795482847. 3
4795482848. 4

Question Number : 113 Question Id : 479548713 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A patient of epilepsy presented with sudden loss of postural muscle tone lasting 1-2 seconds.
There was brief impairment of consciousness but no post-ictal confusion. The most likely diagnosis
is:

(

1) Generalized tonic-clonic seizure
(2) Myoclonic seizure
3)

Atonic seizure

(4) Focal sensory seizure

Options :

4795482849. 1
4795482850. 2
4795482851. 3
4795482852. 4

Question Number : 114 Question Id : 479548714 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
As per World Health Organization, which of the following DXA scan findings qualifies as the
definition of osteoporosis ?
(1) T-Score < —0.5 in lumbar spine
(2) T-Score < —1.0 in lumbar spine
(3) T-Score < —1.5 in lumbar spine
(4) T-Score < —2.5 in lumbar spine

Options :

4795482853. 1
4795482854. 2
4795482855. 3
4795482856. 4

Question Number : 115 Question Id : 479548715 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is the disadvantage of external application of homoeopathy medicine along with internal

dose of medicine as given in V edition of organon of medicine.

(A) Many new symptoms appear after the disappearance of original symptom
(B) Local symptoms will disappear sooner than the internal disease

(C) Duration of treatment will be prolonged due to slow recovery

(D) Difficulty in deciding potency and dose of medicine

Choose the most appropriate answer from the options given below :

() (A) Only

(2)  (B) Onl

(3) (C) Onl

(4) (D) Onl}’
Options :

4795482857. 1
4795482858. 2
4795482859. 3
4795482860. 4



Question Number : 116 Question Id : 479548716 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Chronic alcohol ingestion causes hepatic steatosis.

Reason (R) : Conversion of acetate into acetyl-coenzyme A contributes to fatty acid and

triglyceride synthesis in liver.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3)  (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

4795482861. 1
4795482862. 2
4795482863. 3
4795482864. 4

Question Number : 117 Question Id : 479548717 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following medicines have “aggravation on lying on left side” ?
(A) Ceanothus americanus
(B) Pulsatilla
(C) Magnesia muriatica
(D) Phosphorus
Choose the most appropriate answer from the options given below.
(1) (A), (B) and (C) Only
(2)  (A), (B) and (D) Only
(3) (B), (C) and (D) Only
(4) (A), (€) and (D) Only

Options :

4795482865. 1
4795482866. 2
4795482867. 3
4795482868. 4

Question Number : 118 Question Id : 479548718 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Alternating diseases are chronic diseases, caused by :
(1) Psora

(2) Psora alone or sometime complicated with syphilitic miasm
(3) Psora alone or somefime complicated with sycotic miasm
(4)

Psora alone or complicated with syphilitic and sycotic miasm



Options :

4795482869. 1
4795482870. 2
4795482871. 3
4795482872. 4

Question Number : 119 Question Id : 479548719 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In 6th edition of Organon of Medicine the treatment advised for improperly treated chronic disease
with large dose of sulphur allopathically, the medicine of choice is :

(A) Sulphur X° should be administered by olfaction

(B) Mercurius met X should be administered by olfaction

(C) Thuja X° should be administered by olfaction

(D) Carbo veg X° followed by sulphur X° administered orally

Choose the correct answer from the options given below :

(1) (A) is correct

(2) (B) is correct

(3) (C) is correct

(4) (D) is correct
Options :

4795482873. 1
4795482874. 2
4795482875. 3
4795482876. 4

Question Number : 120 Question Id : 479548720 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Yes Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to ].T. Kent too short relief of symptom in acute disease because of :

(A) Structural change and organs are destroyed

(B) Very high grade inflammatory action and the organ affected thereby threatened
(C) There is latent organic condition present

(D) Weak vital energy

Choose the correct answer from the options given below.

(1) (A) is correct

(2) (B) is correct

(3) (C) is correct

(4) (D) is correct
Options :

4795482877. 1
4795482878. 2
4795482879. 3
4795482880. 4



